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2. FIR CO MR BIR () |
A.CO (g) +1120; (£) =CO, (g) AH,*=238.0 Kf-mol”
B.C (£RIFE) +0, (g) =CO, (g) AH,*=-395.4 kJ-mol”
C.2C (£RIFE) +20, (g) =2C0, (g) AH,=-787.0 kJ-mol”
D.C (F:) +0, (g) =CO0, (g) AH,*=393.5k)-mol”
3. H0 (g)s HaS(g)s HyO(s). HaO (1) HIKRHEIS B KRB /NEIGE S ¢ )
‘A.H0 (g) > HaS (g) > HyO (s) > H,0 (1)
B. H5S (g) > H20 (g) > H,O () > Hy0 (s)
C. Hs8 (8) >H,0 (g) > H,0 (s) > H,0 (/)
D. H20 (g) > H>0 (1) >H,0 (s) > H,S (g)
4. CRTERE T 8 FHIRMNE EARME %5,
4HCl(g) + 0:(g) = 2Ch(g) + 2H,0 (g) K®

2HCl (g) + ‘-21-02 (8 = Ch(g + HO(g) K®,

WK® . K® ZMEERER ()
A.K® =2K%, B. K®, = (K%, C. K® = (K®,)? D. K® =K&,
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A. TELES B. i C. &g D. &7
6. S0, S+ FH, FLETFHEULER ( )
A.sp  B.sp’ C.sp’  D.sp’d & dsp’
7. HaS B9 skt HO 1%, X AT F FH—FEip sk ( )
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AU H W BS H.Q CU H. G D.S H. W
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10. FHIGREEIERAIR ( )

A.BCl &+ F 1 B—Cl 8 £ AR

B.BCL 4+ F9 B—CI %R0

C.BClL 73 FRMRMEF, T B—Cl 8RR MR

D.BCl; 7 FRIEW ML F, M B—Cl SRR
1. T3+, BHMA>FHEEEENE ()

A.Cl B. BF, C. CO, D. NH;
12.N, REEEREANERSF )



A, ZIEW ST B. o & C. W2\ D.5rF ELa /N
13. FOBRF, pHERNMIL ()

A 0.010mol-L" HCl  B. 0.010 mol-L"' H,SO,

C. 0.010mol'L" HAc D+ 0.010 mol-L™' H,C,0,
14, FRICF RSB UES, ERIZ( )

A 4s BTRIRIE S o0 RIRT 45 B FRIGETRIERII &)

B. HFETH» MEEHE : AN ETF, o ik, BT B RS E

C. XEB7#n» MF, ARTHI &KX, BTHRE/ERLK

D. HBFMETHEEZRE R T ELEN, o Mk
15. FRIZHEBTFH, FEROL ( )

(A) n=2, 1=1, m=0, ms=-1/2 (B) n=3, 1=0, m=1, m,=1/2

(©) n=2, I=1, m=-I, ms=12 (D) n=3, =2, m=-2, m,=-1/2
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2. ?ﬁtﬁ%?ﬂk%ﬁﬂﬂtﬂ#ﬂ@ﬁ73#%‘&’3‘2%%'—3%%%89%%2&% , 1k

BB A, O 0, HEAXIHEMEN, W 0.3 KRB A (g
T2B (g) = C (g) WIEEFEN v= k[A][B] . iZRSLY RIRRL, 2B B
BEINERS, R BLR BH 38 K 2 Bk %,
4. RBL 2804(g) + Ox(g) = 2S04(g) ArH,P=—196.6 kJ - mol~'. FE— 2 A28 79 YR R
EEFHEE, HRERTINA 0, , T Bah EWMKERES, Pk
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5. BRI FURA AT 5 B 1145 % 5.

H,O (1) == H*(aq) + OH (aq) K= 1.0x10™

CH3COOH (aq) === CH;COO (aq) + H'(aq) K°= 1.8x10°
WM CH;COO™(aq) + H,0 (1) == CH,COOH (aq) + OH (aq) HIFH#THE %
K= . ’ _
6. IRIBIEILBFEICHINT: RN SbFs + BF, = SbFg+ BF," RN
KF + BF;= K" + BFy & BF; Frigt0fERARR, 7551 — R M5 ,
ERE—RMNTER .
7. NH; By 3L3EEL R o NH; B350 2

8. RS T R 5 5 1 EEL AR R EO I MR s B RO 8 A L AR D
i3

9. TEARMERE T, THIRRAEH M#1T:
Cr0; + 6Fe™ + 14H" = 20 + 6Fe™ + 7H,0 -
2Fe’™ + Sn** = 2Fe* + st
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2.Cr" + S¥ +H,0 —

Mo, fEEE Gt304, {Fk S, /8 6 4)

L FBETHESFREC IS F BT R R B 2 Ak i

CH4v COs. BF;. NHj. H,0

2. AHATFEE HyO F NH, AR 7E CH,™

3. JRIRME S T oh R R i R B TIERR? 2440098 BH I AR A

4. AE W BHs B4 T4, 15 HE RS,

5. T ATEK BT HEE Fe™ F KI $178 Fel,?

6. REZ BT EFRENE EHEMEBAETFH, EFoEnss B4 FHke
Hy?

*. frﬁﬂ (B 105} 28405)

w = 178.26 kJ-mol”, ArS,®=159.0

J-mol” 1<' sk CaCOg(s) HIBRAR S IRIR

2. BH Ko 2(AgCh=1.8%10"° , mu?’fzoLo 10 mol-L™ NaCl ¥, R AeCl 1%
B,

3. FE298 KB 2410.10 mol- L™ 3 — T2 558 /KA HE 4 pH 79 3.00, T B %R I B9 3 5 Ka®.,
4. B5n: Fe 4+ & = et E®=077v ;

K Fe(OH); = 3.8x107%8 | Ko Fe(OH), = 8.0x10¢ .
R¥RBL Fe(OH); +e = Fe(OH), + OH™ f§ £,.



